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Date 16/04/ 20]8 Dmatlon 90 mins M’t‘( Matks 50 Sem ;IV Branch ECB,EEB
Question 1 is compulsmy Answel any SIX questions frrom the rest, Marks OBE
REGULAR - CO | RBT
RS Deﬁne Confmmal tzansf'o:matlon and d]SCUSS the tlansfm matlon W=z 2, __ 08 3 L3
2. Derive the mean and variance of Poisson distribution. 07 4 L3
3. State and prove Cauchy theorem. 07 3 X L3
07 3 L3
S .
4 Using Cauchy integral formula, evaluate §mmqm££2—)—dz where Cis the circle lz[ |
3 (z—(z-2) B
I_.....___..%. e et t m + e L s - . B i S, . .._d.;}____+._._._3._. _.._! . 143 —t
5. Using Cauchy n' " integral formula evaluate J—mdz where C is the circle |z[ =1. ‘
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Sub ENGINEER!NG MATHEMAT]CS IV Code LSMAT4
Date 16/04/2(]18 Duraflon 90 mins Max Marks 50 " Sem v Branch EC B,EEB
Question 1 is compulsoa Y. Answu any SIX questions from the rest. Marks OBE
REGULAR : CO : RBT
L. Define Conformal transformation and discuss the transformation 1 = z’. g 3 L3
C2 Deuve the mean and var tance of Poisson distribution. 07 4 L3
3, State and prove Cauchy them em. 07 3 L3
07 3 L3
cos
Using Cauchy integral formula, evaluate f}gﬂdz where Cis the circle |z|
‘ (z-D(z-2)
4 e R 3

5. Using Cauchy n® integral formula evaluate j‘awf—-}—)“—dz where C is the circle [z] =1. . ;
- 3z 4+ o



If C is the circle |z] = 2, using Cauchy residue theorem, prove that Itan zdz = ~4mi

If A random variable has the following density function: f(x) = {

Ew&ms&wdmﬂﬂmmﬂmM@XWmMeﬁﬂ@ﬁm%mwhAboﬁmfKXSZ)_m_m;

A box contains 12 items of which 4 are defective. A sample of 3 items is selected from the
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elsewhere

box. Let X denote the number of defective items in the sample. Find the probability

pha particles are emitted by a radioactive source at an average rate of 5 in a 20
minute interval. Using Poisson distribution, find the probability that there will be a)

disﬁ'ibution of X. Find the mean and standard deviation of the distribution.

exactly 2 emissions b) at least 2 emissions, in a randomly chosen 20 minutes

interval,
. 4 coins are tossed 100 times and the following resuits are ‘obtained. Fit a binomial
~ distribution for the data and calculate the theoretical frequencies.

Number of heads

0

1

2

3

T

- Frequency

5

29

36

25

5

1f A random variable has the following density function: f(x) = {

A box contains 12 items of which 4 are defective. A sample of 3 items is selected from the box.
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| If C is the circle |z| = 2, using Cauchy residue theorem, prove that Itan zdz =—dmi
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_3<x<3

elsewhere

._"l_E_val_ugtc__a_k_ and find the mean and variance of the distribution . Also find P(X = 2)
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Let X denote the number of defective items in the sample. Find the probability distribution of X.
Find the mean and standard deviation of the distribution.

“Number of heads

- Frequency

29

36

g jA'lpha particles are emitted by a radioactive source at an average rate of 5 in a 20 minute
: flntel val. Using Poisson distribution, find the probability that there will be a) exactly 2
: ‘emissmns b) at least 2 emissions, in a randomly chosen 20 minutes interval.

“4.coins are tossed 100 times and the following results are obtained. Fitabinomial
' distribution for the data and calculate the theoretical frequencies.
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